#ER:1/2,500

BARRDIEE |REMNORE
HIEFEES  [132402A661101143
(ERIES ®aD
AT 7L ih HETEHETEZ

L VB4
i & #R - 1/50,000
T FILSSAAT Y > )

Lyl AL I

oy h S5 e 0 H
e, SN

R ,IC SN G 2 r/f/'-uf\ i 3 ./

,,,,,
S P 1 cqlitie LT
b=Em Su U

X & & R A

[ ] twssenxs

- IRKERNERRS (HPERSES) —
BB LB H0100kN/ mE B % B R i
HHEIOImERZ SR

| | ENLS DR

B R R I (FFRS

TEFDADKESOERT

[TREDNDORES—ERISHE

Of

TEE

1/2,500

1/ 2

ERE



TEFOAODKESS—E

(BEZEE] BARZRDIEE |(AlEfHhORE
1. T_ﬁaméﬁ@*%ﬁ@j’&lfﬁ*ﬁ%':J:U'25’\ EMAEES  |1324024661101143
HDORHEZDHEE émfﬁlztﬁrzqo)ﬂij(ﬂ_{’ﬂ_\bfb Bo N y— s
(A) BBENI= LB 71 AN 100KN/ %22 2 K DIEEND 1 DB AEKN/m) (E) #HEEAIMEIRZ 2RO HEHED HDBAB®KN/ni) 2 THXERARUZEBNICSHIREEHT S ik &an
< mzitax ] HERANIE m ' =] mZ A =l HRANIE m & 3 3 - —L Lg‘,‘ T — — -
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(A) (B) () (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) | 1o 10 991 10 - - 12.7 25 111.0 10 98.2 10 - - 12.7 25
(2 | 1261 10 99.0 10 - - 111 22 126.1 10 98.8 10 - - 1.1 22
( 3) 139.7 1.0 99.0 1.0 - - 13.0 2.6 139.7 1.0 99.1 1.0 - - 13.0 2.6
( 4) 1504 1.0 99.4 1.0 154 3.0 151 3.0 150.4 1.0 96.3 1.0 15.4 3.0 149 29
(5) 1449 1.0 99.5 1.0 - - 14.3 2.8 1449 1.0 96.9 1.0 - - 14.3 2.8
(6) 144.9 1.0 99.1 1.0 - - 13.6 2.7 1449 1.0 96.9 1.0 - - 13.6 2.7
7)) 107.1 1.0 99.7 1.0 - - 11.5 2.3 1071 1.0 95.9 1.0 - - 115 2.3
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